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a)  f(x) =  
2x

1

−
  Df = IR \ {2} ; einfache Polstelle bei x = 2 (VZW) 

      ±∞=
−±→ 2x

1

02x
lim  

 

b) g(x) =  
2)2x(

1

−

 Dg = IR \ {2} ; doppelte Polstelle bei x = 2 (kein VZW) 
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c)  h(x) = 
x2

1

−
  Dh = IR \ {2}  ;  einfache Polstelle bei x = 2 (VZW) 

     ∞=
−±→

m
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d)  k(x) =  
2)x2(

1

−

  Dk = IR \ {2} ; doppelte Polstelle bei x = 2 (kein VZW) 

      ∞=

−±→ 2)x2(

1

02x
lim  

     Bem,: Da (x-2)
2
 = (2-x)

2
 gilt: k(x) = g(x) 

 

e)   i(x) =  
2x
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  Di = IR \ {2} ; Loch bei x = 2  

      422)x2(
02x

lim
2x

)2x(x2

02x
lim

2x

)x2(x2

02x
lim −=⋅−=−

±→

=
−

−−

±→

=
−

−

±→

 

f)  j(x) =  
2)x2(

1

−

−
  Dj = IR \ {2} ; doppelte Polstelle bei x = 2 (kein VZW) 

−∞=

−

−

±→ 2)x2(

1
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lim  



 

 

 

 

 

 

 

  

 


